NN ™~~~

Installabion Instructions:

1. Park on a level surface and shul: of f the moborcycle. Ensure Ghal: the engine has hod Gime

Lo cool before installakion.

2. Angle right: floorboard up. Use a 5/16" hex wrench and 9/16” box wrench to remove original
2017 and newer madels do not

3/8“-16 x 2-1/2* SHECS and 3/8" nuk. Sek; aside 6o reuse.
have 3/8" nut;, motorcycle frame has a Ghreaded hole.

Hardware Kib Including:

N RN ENhMNESENKN

3/8"-16 x 1-3/8" SHCS

3/8"-24 x 7/8" SHES

3/8” High Collor Split: Lock Washers
3/8" Flot: Washers

3/8” Split: Lock Washers

3/8"-24 x 1-1/8" SHCS

D Springs

y-4o x 3/8” BSHCS

Tab Springs

‘ NOTE:
Ciro products are designed and
maonufactured under very

3. Using a 3/16” hex wrench and 7/16” hox wrench, remove floorboard pivot pin. Remove shrich quuiilyy control Erg

Ffloorboard bracket. Sel: aside pin and nul: for reuse.

U, Use a 5/16" hex wrench o remove lower frame bracket: SHCS. Sek; aside, bhis will nok: be

reused.

—

products are warranked 6o he
free of defects in maberial and
workmanship for | (one] year
from dote of purchase by Ghe
consumer.

Cire will have no obligation if
bhe customer cannot: show
proof of purchase.
Warrantiy will not be granbed
unless Ghe part is properiy

|| gire will not be liable for any

'\ consequentiol and incidental

. domages, including lnbor, or

i; non-giro products.

)

| Cirg3d.com for our complebe
| warranby policy.

5. Pub: Girg right: mount in place and reinstall floorhoard pivet pin and nut. Torque bo 60-80 |

in-ibs.

G0060100, REV. B



6. Reinstall original 3/8"-16 x 2-1/2 SHCS and 3/8" nub inbe Cirge right: mounk. Torgue o 36-42 fi-1bs.
For 2017 and newer models, reinstall original 3/8"-16 x 2-1/2* SHCS and Ghreod inbo Ghe Gopped hole.

PAGE

7. From Cirg hardware Kib, install 3/8"-16 x 1-3/8” SHCS with 3/8” flat washer and 3/8" spli; lock washer.
Torque Go 36-4Y2 ft-ibs.

8. Assemble clevis and arm wit:h 3/8"-24 x 7/8” SHCS and 3/8" high collor split: lock washer. Leave fingerbight.

9. Using a 5/16” hex wrench, install arm and clevis onbo mount with 3/8"-24 x 1-1/8” SHES. Torgue to 36-42 ft-Ibs.

10. If using Cire Click Peg Mounts, install Y-40 x 3/8“ BSHECS and tah spring with a 1/16” hex wrench. Install
Ciro foobpeq witkh a D spring and 3/8"-24 x 1-1/8” SHES.

II. Use O spring and 3/8"-24 x 1-1/8” SHES bo install obher footpeys. Torque bo 25-35 fi-Ibs.
12. Repeat: steps 2 Ghrough 1 on Ieft side. |

13. Sit: on motorcycle and adjust: highway pegs to your liking. Check oll clearances, including brake pedal and
Fairing lowers. Recheck all Fasteners and Lighben Go recommended Gorque specificabions.

G0060100, REV. B



	G0060100 Adjustable Highway Peg Mounts REV B-01
	G0060100 Adjustable Highway Peg Mounts REV B-02

